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1 Reflection and transmission a ta step

A particle with energy F is incident on a step potential, for which Uy < E.
a) Determine expressions for the reflection and transmission coefficients in terms of k =
V2mE/R? and k' = \/2m(E — Up)/R2.

b) What do you expect that the sum of the two coefficients should equal? Verify that this
is true using your expressions from the previous part.

c¢) Suppose that the reflection coefficient is 1/ 4 Determine the ratio £/Uy.

d) Given that E and Uj are fixed what effect will increasing the mass of the particles have
on the transmission coeflicient?
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